T7h-gwh (7926) M12 L=45(

o

&

&

&

Bg "8y}
390 220/ 390
110 2890 2890 110 4-D13 -
- = - - D10 @100 I _
=8 | =~ - = FG 1 A = I A
S T S E =
i Tob-wh a2 M1D L=450 /) 4 o =
> i TE | | © < =
< 100 1000 100
. o Poi-g0 Go2) W12 U450 w2 F 14
= g "Bfy ) 90 | 220 | 90 =
10 10 TvA-dwb (7928 M1 L=450
> =y
{Z = %\"\ 1 070 B8 "Efy )
= i A 15 250/ 75
400 = 1-D13 2
= 7vh-kwb (7998) M11 L=450 N = D10 @300
= 90 | 2 | 90 e - o = -
10| | | |10 DI =
e gi,ﬁt, J; d QL E —
- = - D10 5 = LN
1-D13 D10—
Tvh=Ewt (7976) M12 L=450 100 400 100
= T T = D10 8300
- N - FG 13
/\ - % () THRFG2EERT,
k= S| ks
= = | Egsrex 125 |
F1 F1
1000
5780 2 EHNo. ZHENo.
BREZ BRE K&
ERRE 140 | BAR—RNY R HKS 2035
AR | A_N | 8K  NE
ERARKN - ERFHEN H5DHA10122
% EHMmS 30KN/ |@r 1 40| tease b7 4 F RN TR




